Whitman College
Econ 407
Final Exam
December 15, 1994



Write all answers in your blue book. Show all of your work.



1. Janet is the typical urban American consumer. In 1991 she bought 300 pizzas, 500 subway tokens and 20 movie tickets. The prices of these items in the years 1991-1993 are given below.

	Good
	Price in 1991
	Price in 1992
	Price in 1993

	Pizza
	$10
	$11
	$12

	Subway token
	1
	1
	1.50

	Movie ticket
	5
	7
	7

	
	
	
	




(a) (10pts) With 1991 as the base year, calculate the Consumer Price Index for 1991, 1992 and 1993.

(b) (5pts) What is the annual inflation rate between 1991 and 1992? Between 1992 and 1993?

(c) (10pts) Critique the Consumer Price Index as a measure of inflation.




2. (25 pts) In his article Deflating the Case for Zero Inflation, Rao Aiyagari argues that a zero-inflation monetary policy would not provide the benefits claimed by many of the proponents of such a policy. In particular, Aiyagari argues that proponents of zero-inflation policy exaggerate the benefits from reductions in shoe-leather costs. Discuss Aiyagari's argument with respect to shoe-leather costs. Be sure to define shoe-leather costs.





3. (18pts) Suppose the Federal Reserve desired a fairly large decrease in the money supply this month, and then a gradual decrease in the money supply through the next six months. What monetary policy tools would you recommend the Fed use? Explain.



4.(a) (2pts) List the assumptions of the pure expectations theory of the term structure of interest rates. Suppose these assumptions hold for parts (b) and (c).

(b) (15pts) Use the yield curve for government Treasury debt below to forecast the nominal annual interest rate on a one-year Treasury bill that will be issued one year from now.

(c) (10pts) Suppose that all individuals believe that the real annual interest rate on a one-year Treasury bill will be three percent per year through the next two years, and four percent per year thereafter. Use the yield curve below to forecast the annual inflation rate for 1996.
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5. (15pts) Suppose you work for the government as a junior economist. Your boss, who is a political appointee and not an economist, has somehow gotten her hands on a graph of data from the past two decades in which charitable contributions are plotted against the national savings rate. Based on her graph, your boss concludes that if the national savings rate doubles, then charitable contributions will rise by fifty percent. Since your boss desires a fifty percent increase in charitable contributions, she is even now busy writing a proposal to institute a new policy designed to double the national savings rate. You, however, realize that her proposal is subject to the Lucas critique on the use of econometrics in government policy evaluation. Write a memo to your boss in which you explain your reservations about the logic behind her policy suggestion.





6. (50pts) For each of the models below, do the following. Draw the Aggregate Supply curve consistent with the model and thoroughly explain what accounts for the shape of the Aggregate Supply curve in that model. Then, discuss the effectiveness of monetary policy in that model. Refer to aggregate supply and demand curves for each model.

(a) Lucas island model
(b) New Keynesian model


7. The data on money growth and real output growth reveal two key features:
(i) when output grows at an above-average pace, so does the money supply, and
(ii) changes in money growth occur prior to changes in output growth.
Real business cycle models explain this relationship between the money supply growth and output growth by concluding that the changes in output cause the prior changes in the money supply.

(a) (5pts) Briefly explain what causes changes in real output in real business cycle models.

(b) (15pts) Derive the money multiplier for an economy with one type of deposit, and in which banks hold some excess reserves and the public holds some cash. Be sure to define the money multiplier and explain your work.

(c) (10pts) Explain why, according to real business cycle models, a future change in output will cause a current change in the money multiplier, and therefore in the money supply. Refer to the money multiplier from part (b), and be as specific as possible.

(d) (10pts) Real business cycle models also conclude that, if the central bank targets interest rates, then a future change in output will cause a current change in the monetary base. Suppose that desired real money balances depend positively on desired transactions, and negatively on the interest rate on bonds. Draw a money supply and money demand graph (with real money balances on the x-axis and the real interest rate on bonds on the y-axis). With reference to your graph, explain how targeting interest rates will cause the monetary base and therefore the money supply to react to a future change in output in the way described by real business cycle models.

